
POPPY PATTERNS 

CROCHET PATTERN: 4-4.5 mm hook; Design by Hania Wojtowicz
Abbreviations

Ch = chain(s) Dc = double crochet 
Sc = single crochet
Sl st = slip stitch 
(12) = indicates number of stitches at end of round 

With black, make a slip knot and ch2. 
Round 1: 12 dc in second ch from hook. Join with sl st to first dc. Fasten off.
(12) 
Round 2: Using red yarn, join into the top of any of the black dc. Ch 3 (counts
as a dc). 1 dc into the same stitch. 2 dc into each of the remaining dc. Join
with sl st to top of ch 3. (24) 

Round 3: Ch 1. 2 dc into each of the next 4 dc, sc into next dc. * sc in next
dc, 2 dc into each of the next 4 dc, sc in next dc*. Repeat from * to * 2 more
times. Join with sl st into bottom of starting ch 1. (40) 

Round 4: * 2 dc into each of the next 8 dc, sl st between the 2 sc of the
previous row *. Repeat from * to * three times. Fasten off and weave in ends
(68) 

Scan  for Instructional  Video



KNIT PATTERN: knit flat and seamed : Design by Susan Simms
4.5-5.0 mm needles 

Abbreviations K = knit, P = purl, k2tog = knit 2 together, (Sl1, K2tog,
psso) = Slip 1 purl-wise, knit 2 together, pass slip stitch over. 
With red, cast on 52sts. 
Work the next 8 rows as follows: 
Right side: * K10, P3 * repeat from * to * to end. 
Wrong side: * K3, P10 * repeat from * to * to end. 
Cut red starting with black. 
Next row: K2tog across 
Next row: P across 
Next row: * (SI1, K2tog, psso) * repeat from * to* across to last 2 sts.
K2tog. 
Cut yarn and thread through the last stitches with a darning needle.
Pull tight while removing from needle. 
Sew up with black, then with red using the mattress stitch, or leave
for us to sew up. There should be no seam showing. 
Weave in ends, the poppies will be attached with zip ties. Thank you! 

Laurie's Variation in the round -4.5-5mm DPNS for knitting in round.
On 5th row with Second purl stitch pick up cast on edge and P2TOG
(4 times one per section). In the round. If using straight needles - on
the 6th row with 2nd stitch pick up cast on edge and K2TOG 

Any question about either pattern please message Laurie Krempien -
Hall on facebook



Basic poppy knitting pattern

Cast on 60 sts using 4mm needles and
red DK yarn.

Rows 1-8 (K2, P2) to end.

Row 9 (K2tog) to end. [30 sts]

Row 10 (S2kpo) to end. [10 sts]

Break off yarn, leaving a long tail.
Thread tail through remaining 10 sts
and pull tight, then fasten off yarn.

Join the edges of the poppy together
and sew the black button in the centre
of the poppy.

RIB DK
WEIGHT

4MM 

(US 6)

See www.gathered.how

Not important for this project
ABBRE VIATIONS

TENSION
 Any red DK yarn
 Apair of 4mm (US 6) needles
 Asmall black button

YOU WILL NEED
■
■
■

Online instuctions and video

http://www.knitrowan.com/

